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36°00' .5878 .8090 1265 1.376 1.236 1.701 54°00'
10' .5901 .8073 7310 1.368 1.239 1.695 50'
20 .5925 .8056 .1355 1.360 1.241 1.688 40'
30 .5948 .8039 7400 1.551 1.244 1.681 30"
40' 5972 .8021 7445 1.343 1.247 1.675 20'
50 5995 .8004 .7490 1.335 1.249 1.668 10'
37°00' .6018 7986 7536 1:327 1.252 1.662 53°00'
10' .6041 7969 7581 1.319 1.255 1.655 50'
20' .6065 7951 7627 155151, 1.258 1.649 40'
30' .6088 7934 7673 1.303 1.260 1.643 30
40' 6111 7916 420 1.295 1.263 1.636 20'
50' 6134 7898 7766 1.288 1.266 1.630 10'
38°00' .6157 7880 7813 1.280 1.269 1.624 52°00"
10' .6180 7862 7860 1.272 1.272 1.618 50"
20' .6202 7844 7907 1.265 12275 1.612 40'
30" .6225 7826 7954 1.257 1.278 1.606 30'
40' .6248 7808 .8002 1.250 1.281 1.601 20'
50 .6271 7790 .8050 1.242 1.284 1.595 10
cos sin cot tan csc sec
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